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1. Determine which line is parallel to the line with Cartesian equation 2x + 3y +5 = 0.
a. r =(—l,—l)+s(2,3),s e R c. x=2t-1,y=3t-1,teR
b. x=3t-1,y=-2t-1,teR d. none of the above
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2. Which of the following determines a plane?
a. a line and a point not on the line c. two parallel, non-coincident lines
b. two intersecting lines d. all of the above
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3. Which of the following is not a plane?
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4. Which of the following lines is not parallel to the other three?
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5. Which plane goes through the origin and is perpendicular to the line » = (2,-2, l) + 5(2, 3,—4), s € R?

a. 2x—2y+z=0 7‘\=("~.'-‘, \) C. 2x+3y+z—4=0 nx(273,) Qvi‘f\:(z;v,/_q)
b. 2x+3y-4z=0 ff'\z(;_, g!,ac),:f;\“ d. none of the above
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6. Determine the vector and parametric equations for the line passing through the points P(—1,-3) and Q( 3,5).
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7. Which of the following equations determines a line with normal vector :’ = (4,3) going through the point

P(1,-1)? Cockocin 1[""" {( R

a. 4x+3y-1=0 c. 3Ix+4-1=0
b. 4x+3y+1=0 d 3x+4p+1=0 [

[\:uf;j-;C =0 ”JNJZ

A (4,2) e o 7= (a8)

Gxv 29 +0C= o uxe ?(\-})
% 9 )m.}ag

d) #3(ny rC =0 = s ﬁ?@lg ‘\’)u+5a'*\:<> @

8. What value of k£ will make the planes 7,: 2x—ky +3z—1=0and 7,: 2kx+ 3y —2z = 4 perpendicular?
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b. 4 d 8
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9. Which of the following is a unit normal vector to the plane with Cartesian equation 2x —y +2z -5 = 0?

a. n =(2,—l,2) C. Y [2 12]
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10. Which of the following is a direction vector for the plane with Cartesian equation 3x —2y — 5z +3 = 0?
a. d =(3,-2-5) c. d=(-111)

b. ?:(1,—1,1) d. ?:(3,2,5)
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11. Determine the parametric equations for the line perpendicular to L: r» = (5,6) +s( 1,—5), s € R containing the
point P(2,4).
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12. Determine Vector, Parametric and if possible Symmetric equations of the line going through the points P( 2,0 3)

andQ(l,B,?). BeFore P«rJSuJ&’ﬂNC), A MINI - (€S0 1S PRESENED
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12. Determine Vector, Parametric and if possible Symmetric equations of the line going through the points P(—2, 0, 3)
and 0(1,3,7).
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13. Determine a Vector equation and the Cartesian equation of a plane that contains the points P(B,—l.—ZJ : Q(ZZ, 0),

and R(-5,2,1).
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14. Determine @ equation of a plane containing the point P (1,—1,0) and which is perpendicular to the line given by

x—1 _J’+3_z—2
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15. Determine Parametric and Catersian equations of the plane containing the lines
l:(x,y,2)=3,-4,1)+s(1,-3,-5), seR, 1,:(7,-1,00+4-2,6,10), teR.
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